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GCSE Mathematics (Linear) 1380
Formulae: Foundation Tier
You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.
l—a—

Area of trapezium = 5(a+bh)h

Volume of prism = area of cross section x length
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i Answer ALL TWENTY FIVE questions.
[
Write your answers in the spaces provided.
You must write down all stages in your working.
You must NOT use a calculator.
1. (a) Write down the number one thousand two hundred and eighty four in figures.
1, A8
1)
(b) Write the number 4067 in words.
1-: DA U‘*DLWJL?\-Y'L and Si X L i DN L,
)
(c) What is the value of the figure 2 in the number 30277
|
2D .
1)
(d) Write 1476 correct to the nearest hundred.
Bhel=
€@y el
(Total 4 marks)
|
- S - . - s
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2. At the beginning of term a school had 960 students.
By the end of term 23 students had left
and 16 students had joined the school.

(a) How many students did the school have at the end of the term?

46 o 187
T ‘ + l;é
o> 8.
93% 453 .

The school day starts at 8 30 am and finishes at 3 30 pm.

Students have 20 minutes for morning break and 40 minutes for lunch break.
Students have lessons for the rest of the school day.

(b) Work out how many hours of lessons students have each day.

($:230 = O8 : 30 = # hes

Total brealk Eime = 20 mins + L@ ming = 6O Mins ac The,

I;’)(’:c\lﬂ [«6?55:)"‘\ k";rr\e—: — _:IZ’" = G houe 3

(Total 5 marks)
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3. Amir asked some people which was their favourite town for shopping.
He drew a bar chart to show information about their answers.
Favourite Town for Shopping
16
14
12
Number of 10
people 8
6
4
2
0
Bath Bristol Gloucester ~ Swindon
(a) How many people said that Bath was their favourite town for shopping?
....... A
)
More people said that Bristol was their favourite town for shopping than said Swindon
was.
(b) How many more?
g =8 = . T
(1)
(c) Which town was the mode?
B}’ \skol
@3 Q3
(Total 3 marks) T
- J

= | n n i 2 A n [ 2 Q2 I At
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4. Poppy thinks of a rule for a number pattern.

Her rule is

X 2

Here are the first 3 numbers in her number pattern.

3 B 12

(a) Write down the next number in Poppy’s number pattern.

Jasper thinks of a rule for a number pattern.
He uses his rule to write down 2 5 8 11

(b) Complete the box to show Jasper’s rule.

+ 3

1)
Car] thinks of a rule for a number pattern.

His rule is

x2+1

He starts with the number 3

(c) Write down the second number and the third number in his number pattern.
2% A4 = &+ 1= F

q.y; Q\—i-lili'-{'—l-li'—llg" ?__ | &

(Total 3 marks)

Leave
blank
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S. The table gives information about temperatures at 1 am in some cities on 2 days. 5
Temperature
City Monday Tuesday
Newcastle =11°C =340
Leeds =12 =3%
Cardiff ~5°C . 6
London =T 1%
Truro —=2°C 5°C
(a) Write down the name of the city which had the lowest temperature on Monday.
|
bteds |
M |
(b) Work out the difference in the temperatures between Newcastle and London on
Monday. ,
o
.-—;L—(--u) - —F 41l = 4 C
............... Lr °C |
™
(c) Work out the increase in temperature in Truro between 1am Monday and 1am
Tuesday.
S_'"(_Z): S+ 2= F % = " 5
(1)
Gareth lives in Cardiff.
At 1 am Monday, he predicts that the temperature in Cardiff is going to rise by 2°C every
hour.
Using Gareth’s prediction, '
(d) work out the time at which the temperature will rise to —2°C.
.H-Q.p(“()) ___Q“r—én:__li.:gl\fjA
. - 2 2 .
)\ 3 A Pn
ol + Q2 hes = 23 100 1) I(ls
(Total 4 marks) !
|
E— i S S B
N1 RO 0 0 001 7
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The diagram shows a man and a bus.
The man and the bus are drawn to the same scale.
The man is of average height.

(1) Write down an estimate for the height of the man.

(1) Find an estimate for the length of the bus.

B 4. &2 MBS g8 = S

am——
—

l'_?_ a5
4 m

| Leave |

| blank ‘

[ N O Q6
| |
; (Total 3 marks) |
: 7. (a) Work out % of £24 !
|
oy Ay = —2—5-— = P G
- £ oS
| 1)
(b) Work out 10% of 400 kg.
100 'O
_ 40D - 9O (Q ‘3 ........... "'110 ......... kg ,
Te < M Q7 |
(Total 2 marks) |
8
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8. Bill has two parcels on a trolley.
The first parcel weighs 3.45 kg.
The second parcel weighs 1.8 kg.
Bill cannot put more than a total weight of 10 kg on the trolley.
Bill puts a third parcel on the trolley.

(a) Work out the largest possible weight of the third parcel.

io-(345+1-8 )

Y = S raa

if

4. FS Rg

|

(3. 8.0 W ol iz~ TN

= e BN
b S

Nimer has a jug.

There are 2 litres of water in the jug.

Nimer wants to fill some glasses with water from the jug.
He will fill each glass with exactly 300 m/ of water.

(b) Work out the largest number of glasses that Nimer can fill.
2 Likres = AODO el

jooo . 20 . (2%
oo 3

2) Q8

(Total S marks)
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Diagram NOT
accurately drawn

230°

The diagram shows an equilateral triangle and an isosceles triangle.

(a) Work out the size of the angle marked x.

Gy o
1
(b) Work out the size of the angle marked y.
eV e L/
> 30~ (130+690)
= 3¢(0~ 290
= 707
Y = ;%0_1(360-—230~c,o) ................... O ..........
, 3 9
- 180 - 2(#0) @ o
2 180 -0 = 40 (Total 4 marks) !
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blank
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10. Here are some triangles drawn on a square grid.
5 /1
Al N B
'
C D E
F
Two of the triangles are congruent.
(a) Write down the letters of these two triangles.
.............. ﬂ‘ and E"
(1)
One of the triangles is an enlargement of another of the triangles.
(b) Write down the letters of these two triangles.
'l F
....... ‘D 1 1 R,
(1
Two of the triangles each have one line of symmetry.
(c) Write down the letters of these two triangles.
R o
....................... 3111t [
(1 Q10
(Total 3 marks) T
J
11
AN 0 A0 0 n
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11. ]
Evens Unlikely Impossible Certain Likely
Use a word from the box which best describes each of the following events.
(a) When you throw an ordinary dice you get a number greater than 1
Likel “
1)
(b) When you throw an ordinary coin you get a head.
l; vens
1)
(¢) When you take out a counter from a bag that contains only blue counters you get a
red counter.
Lmnpssible
(1 Qu
(Total 3 marks)
12. A tin of paint costs £4.87
Helen buys 19 tins of paint.
Work out an estimate for the total cost.
[ 9
; 4
_’{__'r_:_.
1S
Y Q12
(Total 2 marks) |

A O A
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13. (a) On the centimetre grid draw a rectangle with an area of 20 cm?.

257
27

v 5

WNNW
NNNRN

e
.

(2)

(b) On the centimetre grid draw an isosceles triangle with an area of 12 cm?.

]

Y =~

Aren of abovea (:fi'mmgle = base % ‘r\ug\’t - (.’_%“- A (2) |Q13
= (Total 4 marks) ﬂ

=

13

D 4 n n 7 Q A n 1 ] 2 a2 1
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14. x=5 and - o
+x=Sandy=>
Work out the value of
(i) 4x+2y
L{'(S‘) % 1(——5?) - )\O“f' | ;l!
2 i
(ii) 10 —x?
1B - & & -5 = =18
..................................... Q14
(Total 3 marks)
15. (a) Work out 564 - 128
Skt
- 123
4 36
o % 4
(2)
(b) Work out 4x7Tx5
Gl F = 2%
2%
ST
L O | 4 O
................................. (2) rgs
(Total 4 marks) :
o,
14

O 0 0 0
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16. (a) This shape has rotational symmetry.
X
Mark with a cross (x) the centre of rotation.
1)
(b)
Complete this shape so that it has rotational symmetry of order 4
@) Q16
(Total 2 marks)
15
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17.

GO + 28 + 22

Reading

22 Slough

28 40 Guildford

30 22 47 Oxford

45 28 66 25 Buckingham

The table gives distances in miles by road between some towns.

(a) Write down the distance between Reading and Guildford.

Sophie drives from Slough to Guildford.
She then drives from Guildford to Reading.
Sophie then drives from Reading to Slough.

(b) Work out the total distance that she drives.

G

T
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Izzy lives in Oxford.
She has to drive to a meeting in Buckingham and then from Buckingham to Reading to
pick up a friend.
After she picks up her friend she will drive back to Oxford.
She plans to drive at a speed of 50 miles per hour.
The meeting will last 3 hours, including lunch.
She leaves Oxford at 9 am.
(c) Work out the time at which she should get back to Oxford.
Totkal A & ance. to (3-.’(&\/@.} = A5+ 45 + 30 = 10O mio”‘é
T.me, to deive 10O @ l{/_) = _i'_i?__o__ = ;l how <
SO
Tobal Bime Spent 1n ma..dfinb ok tﬁ%vci(i’b = Brleuhs,
3 1220 L\{,M acrwe back Lo Ox(—lm“o( D\Pm
ok P @ Q17
(Total 7 marks)
18. Jim has £x.
Gemma has £4 more than Jim.
Jo has £2 less than Jim.
The total amount of money they have is £23
(a) Use this information to write down an equation in x.
G Crmma Tf)
o T i T
x + [ X+4d) + (x«-,z) = a3
N+ A + -2 =23 Yo+ A = L3
i) ‘_%,:)a-r';l:;l'_g ................................................... (2)
(b) Solve the equation to find how much money Jim has.
T4 8 = A3
=y Ws A ~4 cw b b - ‘::’—
3 g
%
2) Q18
M)
(Total 4 marks) ‘
17
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19. Theo earns £20 one weekend.

He gives £4 to his brother.

(a) Express £4 as a fraction of £20
Give your answer in its simplest form.

Theo gives £6 to his mother.
(b) Express £6 as a percentage of £20

,__("’__n i 1OD
1O
=z 3 y O = BO O/o

B i O BO

Theo spent the remaining £10 on bus fares and food.
He spent £1.50 more on bus fares than on food.

(c) How much did he spend on bus fares?

- (Coodl
Lack s amrornt Theo Spf—/nt ary 1R0% ;

o o Cnrant b dlitiees B D2 F 150
| hean e an € Slo'%\JQ Gry DR (m(bb - Céiu h \3

y = &3

. . e &
=58 BE = f_@__il’—’ S-S & g £5 ........ T

2 p| @ |Q19
. Nmoaat s[x:r\l- on bus Fé«.(d-}_s = X+1-5 = 425+ 5 (Total 6 rarks) T

=45 TS

= | n n 7 Q A n 1 2 9 Q |
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20. Here is a number pattern.

Line Number
1 12=f 32 x4 7 10
2 22+ 42 Ix3P42 20
3 3? +.52 2x4242 34
7 2
4 o LXS + ) 52
: e
10 IQZ + i‘;ll AN +2 9 Wiy
(a) Complete Line Number 4 of the pattern.
1)
(b) Complete Line Number 10 of the pattern.
(2)

(c) Use the number pattern to find the answer to 9992 + 10012
; . e o ~ 2 4 "
Q99" + 102 = 2 X )O3
= 92 x lpoooo+ 2

- 120200 ,0 O

2, 006,00 9

@ Q0

(Total 5 marks)

J

19
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21. Jim did a survey on the lengths of caterpillars he found on a field trip.

Information about the lengths is given in the stem and leaf diagram.

113357 1 Key: 5|2 means 5.2 cm
2106 8889
3115555689
4

5

L3
2

(a) Find the range.

£~ (.3 =2 3.9 em

@
(b) Work out the median.
......... 1
@)
A caterpillar 1s chosen at random from these caterpillars.
(c) Find the probability that this caterpillar is longer than 4 cm.
Sloten). 3. =
Plsetimn ) = S > i
l n(S3 Al
) .
e
H
@
|
(Total 6 marks) |

A
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22. (a) Expand and simplify 2x—y) = 3(x—2p)
Q- Ay-3x + év
= -2 + \j o° Lt \O o=
H’\O i "3
................................. (2)
(b) Solve 3y+12=y+8
9‘ D + ] Cl = %j
= = ¢ — | =i o . =
=} &= ES_____.L = 7§ o\
= | -2
i R, 1. RO,
2)
(c) Factorise 4+ 6x
= g]la+ 5 1)
424 3% )
................................. (1) 2
(Total 5 marks) ‘
21
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23.

—
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blank

Diagram NOT
accurately drawn

The diagram shows a regular hexagon and a square.

Calculate the size of the angle a.
E)( té-riﬂt" aﬂg)l& , < i C)F‘\ G rqﬁ{,(\g\( G—-

‘S\OIML "\CLPLG\(aQr\ iS %\\/m E.-.\a 3"*__0 :GC> “
&

o . TAtedne omél’ﬁq L, [ ';gl"-*@m L)-a (8O~ 6O F 120
' a= 20-(90 +i)=%0-(90+120)

- WO~ 210 = 1S O

................................... Q23
(Total 4 marks) T

29
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24. Suzy did an experiment to study the times, in minutes, it took 1 cm ice cubes
to melt at different temperatures.
Some information about her results is given in the scatter graph.
A
30 5 A EEEEEESmammREAL
20 45 -
Time z
(Minutes) i -
0 L T —>
0 80 90 100
Temperature (°C)
The table shows information from two more experiments.
Temperature (°C) 15 55
Time (Minutes) 22 15
(a) On the scatter graph, plot the information from the table.
)
(b) Describe the relationship between the temperature and the time it takes
a 1 cm ice cube to melt.
N O.,géxt‘ ive cocrdakinag
ey
(c) Find an estimate for the time it takes a 1 cm ice cube to melt when the temperature
525 °C,
;\‘ ....... minutes
2
Suzy’s data cannot be used to predict how long it will take a 1 cm ice cube to melt
when the temperature is 100 °C.
(d) Explain why. 4 it sl |
__l—i;\q, czj(qpk Prcclr't cts et it LWl be Loo ot Fo{ ’\c'(‘e_ ko
........................... s IY
e i foe anv) A mﬁiclm of time above RO | (1) gz.r‘
(Total 5 marks) J
23
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(a) Translate shape A by (_2)

Label the new shape B.
2

ve
blank

24
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\1
(L
i
o
(\

-10 8 -6 -4 2 @ 2 4 6 8 10 x

/

(b) Reflect shape C in the line y = x.
Label the new shape D.

(2) Q25
(Total 4 marks) '—1

TOTAL FOR PAPER: 100 MARKS

END
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